BEHER- FEDHER-REXAELOVEZER-FEREIALYDELEHK.
BRENBEH. EABBLFEDHEDLLE

(HHMIES5A18HE)

O K=Pr
- = —_ = EEHE LHFTHE GERY
R -EK EEHE M &R HEERLRBESEAAN $1{f&|’_§1 ﬁﬁ)aﬂ)?ﬂﬁﬁﬁiﬁﬁ%ﬁ
” HiaE Hiziad | HEEY | HiRiEg S oA e e
g kx| #2wm | x| s BEY | mziey |HHBER| HE | HKERX] nxigy | WUBREAR = BRI AL E
BALHEN BRrER 5 3 1 0 9 4 3 5 0 3 2 Eéékffﬁ 29 100.0% 0.0%
'L fEHE 7o 1=y ¥ X&ébﬁ 0 0
MVEFIHER BREROEERK 7 2 1 0 10 4 4 2 4 2 2 T5LLE 0.3 81.1% 18.9%
= FIEEMEFE
A=Y @;ﬁﬁ'ﬁﬁé‘%ﬁggw 6 3 0 1 10 7 5 1 2 4 3 ?éfj‘fﬁ 0.8 90.0% 10.0%
XZEKRE &t 18 8 2 1 29 15 12 8 5 9 7 ?i)ﬁﬁf_ﬁ 1.3 90.7% 9.3%
¥ KRFREARAR. 2BAFHEEFELT D,
O K= _ _
= RERE = BEEHELEREIHE
SEHAR tpzs (FEXN wayn | Grrnng) ot E
PR R EHEH ey CGEEEH = B #=ITHE
i | A%uE| WET | B% | B [(NBR |47 B | TEZT |Cranx
Y B)iE
AN EER REEER 9 3 3 0 15 6(3) 8.7 31 32.6% 67.4%
IR 12 7 3 0 22 7(4) 18.8 38 36.7% 63.3%
B FER LY 2 AEFR 8 1 1 0 10 8(4)% 29.4 14 41.7% 58.3%
ERERSF R 4 4 4 0 12 8(4)% 144 14 46.2% 53.8%
AR =Y N E RE -9 % R F} 5 1 2 1 9 8(4) 22.1 12 42.9% 57.1%
AR —-vigEH 10 2 1 2 15 8(4) 21.9 12 55.6% 44.4%
IRBREEICHCEHHIETHEL — — — — — 20(10) — — — —
AEFEE 48 18 14 3 83 65(33) 18.5 121 40.7% 59.3%
*x FIRFIC. ZR1E2EFST, XIDMI2BFEHELNDE,
O EHAKFER
= RERE = BEEHELEEIHE
SERAM oy |TEER| wawe | GhrasE) wE
=k S EHEH E%ﬁéi (3!5}*%1]%& T HEEHE
iz | £Bd%| B | B it (MR %& 8% tl:ﬁﬁ GEEEH
8 8) b
BEEFEXYITER 3 2 1 0 6 5(2) 17.2 18 25.0% 75.0%
YRHBBEGREEH 5 6 1 1 13 10(3) 12.2 21 38.2% 61.8%
IRBEEICHLEHHIEFHE — — — — — 4(2) — — — —
EHAEFEHEE 8 8 2 1 19 19(7) 13.8 39 32.8% 67.2%

* HERIZ.ZR18Z5T,




